(2) #4-40 X 3/8" SS CAP SCREW
Nez=>
(4) #4 LOCK WASHER -
sl
N 4 IIII
(4) #4 FLAT WASHER
NOTE(S):

. ALL MOUNTING HARDWARE AND RING TERMINAL SUPPLIED BY CUSTOMER.

(2)

(1)

SHORTING SCREW,
BEFORE USING DIODE

(2)

DIMENSIONS ARE IN INCHES AND INCLUDE
CHEMICALLY APPLIED OR PLATED FINISHES

RING TERMINAL

#4 X 1/8" LG SCREW INSULATOR

REMOVE

$4-40 X 5/16" SS CAP SCREW

INDIUM FOIL
010" THICK

INCYIRITARCY” @R ANT

—

Cutting Edge Opironics

AAA PACKAGE GB. MOUNTING

SIZE REV

MOUNTING-AAA-PACK-GOLDEN-BULLET

GENERAL TOLERANCES UNLESS NOTED:

XXz .1 X. XXX = +.005
XXX = +.01 ANGLES - +.5°

SCALE: NONE ] [SHEET | OF




